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Mental Alility 1

Group Number : 1
Group Id : 545927341
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit?: No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Mental Ability 1
Section Id : 545027341
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20



Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 545927409
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 5459276869 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Arrange the giver words in the sequence in which they oCcur in the dicticnary.

1. Cuarantine
2. Cmadrangle
=, Cmantifier
4. Cuadruple
L. Cuadriceps

Options:

1. % 25413
2. % 52134
3. ¥ 25431

4 % 51234

Question Number : 1 Question Id : 5459276869 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
TRTeTET aeal @1 SIS dege i § & o %W % argar o

1. Quarantine
2. Quadrangle
=. Cmantifier
4, Cuadruple
L. Cuadriceps

Options:

1. % 25413
2. % 52134
3. ¥ 25431

4 % 51234

Question Number : 2 Question Id : 5459276870 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& series is given with one term rmissing. Select the correct alternative from the given ones that will complete the
SETIES.

UVE HZ10, A7, 7, GL37
Options:
1. % DIz7

2. % DIZE
3. ¥ DHEE
4. % DHZ7



Question Number : 2 Question Id : 5459276870 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T S foa T g, e & uw ug | 81 o o et | & 9 a5t Ewed g, S g O

WS, X210, AD17, 7, GL37
Options:

1. % DI27

2. % DI26

3. ¥ DHZE

4 % DHZ7

Question Number : 3 Question Id : 5459276871 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& series is given with one term wrong. Select that wrong term from the given alternatives.

F4, HS, J15, L25, N36
Options:

1. % F4

= ¥ J15

3% LEE

4. % DMZE

Question Number : 3 Question Id : 5459276871 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e S T 1T &, T € 0 U e 81 o Y e § & 99 a ug 1 g

F4, H3, J15, L25, NZ6
Options:

1. % F4

2 ¥ J15

2. % L2

4 % IMN36E

Question Number : 4 Question Id : 5459276872 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the odd word from the given alternatives.

Options:

1. % Lion
2. % Tiger
3. % Fox

4. ¥ Eagle

Question Number : 4 Question Id : 5459276872 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



TaimiET wg | o my Ewedt o & oy aeg w1 giam
Options:

1. % 1&g

= % g

3 % FmsT

4. ¥ =

Question Number : 5 Question Id : 5459276873 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ir1 the following question, select the odd letter [letters from the Ziven alternatives,

Options:

1. % ACE
2. % BDF
3. ® FHJ
4 ¥ CFR

Question Number : 5 Question Id : 5459276873 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TratataT we # for 7o fawet # & fouw sy it &t g

Options:
1. ® ACE

2. ® BLF
3. ¥ FHJ]
4. ¥ OPR

Question Number : 6 Question Id : 5459276874 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following questiorn, select the odd word pair from the given alternatives.

Options:

1. ® Ostrich : Bird
2. ¥ Stationery : Pen
Z. % Lizard : Reptile
4. % Cup: Crockery

Question Number : 6 Question Id : 5459276874 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TratataT wey # for 7o fHesat & & foww geg 3w 7 g

Options:

1. % grgert : et

2. o FET-gIET . wEn
5 % frm woET
4. ® . wiwr

Question Number : 7 Question Id : 5459276875 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
Ir1 the following question, select the related word pair from the given alternatives,

Young . old o 7
Options:

1. % Elack : Colour
2. % Work : Hard
2. ¥ Junior : Senior
4. % Wwork : Joule

Question Number : 7 Question Id : 5459276875 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e g o fom w femeut # & Hatdd aeg g @t g

qar: deg 0 7
Options:

1. % T T

2 ® g7 HET

3. ¥ e HiFer
4 8wl S

Question Number : 8 Question Id : 5459276876 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the related word from the given alternatives.

Five : Pentagon - Three : 7
Options:

1. % Square

Z % Rhombus

3. ¥ Triangle

4. % Rectangle

Question Number : 8 Question Id : 5459276876 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T g o far m ferre! # & HetdT aeg g @ g

O T e ?
Options:

1. % =it

2 % g

z. ¥ TR

4 % TIT

Question Number : 9 Question Id : 5459276877 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



In the following question, select the related letter pair from the given alternatives.

GHLF : IEF1I :: ?
Options:

1. % CGEO : EJOT
2. % FGHI : HJMMN
2. % ACDH : CFOR
4 % PSTW  WYZA

Question Number : 9 Question Id : 5459276877 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TraferT na # fom 7 amedt # & Hellda s1a) g w1 g

GHLP : [EPIT 7Y
Options:

1. % CGKO : EJOT
2. % FGHI : H]MMN
2. % ACDH : CFOR
4 % PETW  WYZA

Question Number : 10 Question Id : 5459276878 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Ir1 & certain code language, MILE' is called as ‘PURE’, 'PURE' 15 called as 'BLOOD, 'BELOOD' 15 called as "KELY,
‘HELY i5 called as 'BIEDY, 'BIELY is called as 'DRY. Which colour is used to show danger?

Options:

1. * RED
2. ¥ EIRD
2. % MILK

4. % BLOOD

Question Number : 10 Question Id : 5459276878 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks 0.25
U Tafe HE amr H, g:g;
‘U BT HET FEIATAT B B mfmau'q*m

Options:

1. % &
2 gt
3. % gy

4 % T

GTcrr%' Eﬁ'aﬁ AT FET AT 8, "Wl & TaT F5T AT,
aﬁ?{mﬁﬁ?gq

Question Number : 11 Question Id : 5459276879 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In a certain code language, ‘BULE' is written as 190", "CALM’ is writter1 as "150°. What is the code for 'DOES’ in
that code language?

Options:

1. % 160



2. % 210
3% 180
4. % 220

Question Number : 11 Question Id : 5459276879 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
U e #E v # BULE #1190 eRar AaT 8, ‘CALM &7 150 o/l AT 81 59 ®18 9T § ‘DOES” &7 T 4T 57

Options:

1. % 160
2. % 210
2% 180
4 ¥ 220

Question Number : 12 Question Id : 5459276880 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In a certain code language, ‘ENSOUL’ is written as ‘TJWEYH'. What is the code for ‘CHEWELD” in that code
language’

Options:

1. % GCDSCE
2. ¥ GDISIZ
2% GDCSCZ

4. % GDHSHZ

Question Number : 12 Question Id : 5459276880 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T TiEE #E g # ENSOUL” &1 IWEYH 5/ 9T 81 29 #iE 9T § ‘CHEWEL' &1 18 #4727

Options:

1. % GCDSCZ
2. ¥ GDISIZ
2% GDCSCEZ
4 % GDHSHZ

Question Number : 13 Question Id : 5459276881 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Fiya 15 younger than Ram Kishan 1s younger than Eam bat elder than Riva. Sandhya 15 elder than Sheetal and
Rarn both. Ram is younger than Sheetal. Among these five, who is the third youngest?

Options:

1. % Ram
2. % Kishan
= % Riva
4. % Sheetal

Question Number : 13 Question Id : 5459276881 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1.¥

2 ® T

3 ® fa

4 % diger

Question Number : 14 Question Id : 5459276882 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& B, C, D E Fand G are seven coaches. Each one among therm is a coach of a different game. The games are
Hoclkey, Cricket, Badmunton, Tennis, ¥Volleyball, Baslketball and Football (not necessarily in the same order).
Each of thern trains on one of the seven days of the week from Monday to Sunday (not necessarily in the same
order). No two coaches train on the same day of a week. C trains Badminton on Friday. B teaches Volleyball on
the previous day of the day on which a coach trains Hockey. G trains on Sunday but does not train Cricket or
Tennis. D trains Basketball on the previous day of the day on which F trains. & trains Football on Tuesday. E
does not train Tenmis. On which day does F train?

Options:

1. = Monday

2. % Wednesday

3. % Thursday

4. % Friday

Question Number : 14 Question Id : 5459276882 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A, B, C, Dy E F 3G AT & 21 I8 o Wedidh Uk el Hed &7 Fil ) Tel 51, [oehe, deibed, 2, ainiard, adeard s
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Options:
1. % qHar

2 % TER
3. ¥ gEenidan
4 % ggEw

Question Number : 15 Question Id : 5459276883 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& team of five persons is to be selected from amongst five girls &, B, C, D and Eand four boys P, O Eand 5.
Sorme criteria for selection are: E and P have to be together. § and © cannot be together. B and R cannot be
together. C and & have t0 be together. © and D cannot be together, If Q is one of the selected mermbers, then
who can be the other members of the tearn?

Options:

1. % 5, R, D, C
2 = R 5 CA
Z ¥ EPFER
4 % P, 5 C A



Question Number : 15 Question Id : 5459276883 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

U ASEAat 4, B, C, D dWE qeTa” @i P, Q, B &% 5 H & U s @l ek &0 g1 AT g1 =19 & o0 3% AFes & E
AP U T g 5 &fT O UF /T AET 5 99 B MR U Rt A5l 5f @@ C T A U @RTEim G oW D 0w "1 A5 5l
T Aie O AT deedl H & UF 5, F7 oI & &g Aeg i 5 T 27

Options:

1. 5 RDC
2% R, 5 C A
2 ¥EPER
4 ® P 5 C A

Question Number : 16 Question Id : 5459276884 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Pointing a wornan in the photo, Keshavy said that “it is the photo of my mother's, only son's father's younger
sister.” What is the relation of that person in the photo with keshav?

Options:

1. % Mother

2. % Sister

2. ¥ PFaternal aunt
4. % Wwife

Question Number : 16 Question Id : 5459276884 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

BTt H U Higell &1 S Gobg Bed g, el « T foF "Iy HE AT & Fheitd G o T0a1 & BIET a5 1 Bl 51 Bie # 511 i &
TEHT AT o T AT el 57

Options:

1. % @f
> ® gEq
3 \/gﬂﬂ

4. ® gt

Question Number : 17 Question Id : 5459276885 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

&, B, C, D and E are five members of a family. In this family there is a doctor, a teacher, a professor, a
inspector and a businessman. & is the son of a professor. D is an unmarried lady. In the family there is a
married couple in which E is the husband. E is the brother of  and he is neither a teacher nor a businessmarn.
Son of the married couple is not the teacher. There is no lady doctor in the family. The teacher is not married.
Who is the teacher?

Options:
1. % 4
2. % E
3% C
4 ¥ D

Question Number : 17 Question Id : 5459276885 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1% 4
> % B
3% C
4 4D

Question Number : 18 Question Id : 5459276886 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following questicon below are giverl some statermnents followed by some conclusions based on those
staternents. Taking the given statements to be true even if they seem to be at variance from commonly known
facts. Read all the conclusions and then decide which of the given conclusion logically follows the given
Staternents.

Staternents:
[ All bools are tables.
II. &ll chairs are boolks.

COnClusions:
[. Some tablas are hooks,
II. Al Boclks are chairs.

Options:

1. % Only conclusion I follow

2. % Only conclusion 1T follow

2. % Both conclusion I and I follow

4. #® Meither conclusion follow

Question Number : 18 Question Id : 5459276886 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
el Tem My we | g @ o 3 g, 31 el O AT g ey fou Ty @ fag T @t @t |ny v, EI'I%G'HﬁETH‘ITE‘IH’
Fert & TrgaT g &t Tomand o offv T Frerfior o 7 Tam o @19 & Tomars, o g et o srmere o geaTa B

-

1. 7T el 71 8

11wt gpidrat faramar 2
Terme:

e

Options:

1. & et Twept 1 argasor T 2

2. % e Tma 11 SIgER FaT gl

3. % g1 TmRy | F9TI STER #Wd )
4 % g T Fwrd ergeww A5l gl

Question Number : 19 Question Id : 5459276887 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



In the following question below are given some staternents followed by some conclusions based on those
staternents. Taking the given statements to be true even if they seem to be at variance from commonly known
facts. Read all the conclusions and then decide which of the given conclusion logically follows the given
Statermnents.

Statermnents:

[. Some Chairs are pens.
II. Sormne pens are cups.
III. All cups are tables.

COnclusions:

[. Some tables are chairs.
I[I[. Somme Cups are pens.
I[II. All tables are pens.

Options:

1. * Only conclusion I follow

2. % Only conclusion 1T follow
2. ¥ Cnly conclusion IT follow

4. % MNeither conclusion follow

Question Number : 19 Question Id : 5459276887 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
1t Tem My wer g w39 ag, 3 el T AT sy o T 9 T T et @Rt 6, T 99 9 A
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CRupK _

1. F7 FrEaaT Fad 2l
II. FF Fod B0 8l
111, &+t &0 77 81

e |
| g9 B AT

I1. FF &7 FAH 71
III.%NW%

Options:

1. % crerel Tepd 1 STeRoT a3l

2 % o feard 111 ST e HaT ol
3. el Tmey 11 STgER Far gl
4 % g T Fwrd ergeww A5l gl

Question Number : 20 Question Id : 5459276888 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, four number pairs are given. The number on left side of (- is related to the number
of the right side of (=) with some Logic /Rule/REelation. Three are similar on basis of same Logic /Fule/Relation.
Select the odd one out from the given alternatives.

Options:

1. % 2114 - 294
2. % 2517 - 425
. ¥ 4819 - 354

4 % 3226 - 332



Question Number : 20 Question Id : 5459276888 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

et Tam T W, =T EEaT g T T 1 (-) o S ST S TS S (- jﬁ?atﬁaﬁfé’rﬂﬁﬂwﬁﬁﬁrﬁ;ﬁaﬁ el & Hateg
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Options:
1. % 2114 - 294

2. % 2517 - 425
2 ¥ 4619 - 554
4 % 3226 - 332

Mental Ability 2

Group Number : 2
Group Id: 545927342
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit?: No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Merntal Ability 2
Section Id : 545027342
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 545927410
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 5459276889 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, four number pairs are given. The number on left side of (- is related to the number
of the right side of {-) with some Logic (Rule jEelation. Three are similar on basis of same Logic [Rule (Relation.
Select the odd one out from the given alternatives.

Options:
1. % Z2EE - 60
E



3.% 321 -23
4 % 137 -21

Question Number : 21 Question Id : 5459276889 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

et TaT T ey H, = e g TR T (<) o s ST S TE S (- jﬁaﬂﬁﬁnﬁmﬁ%ﬁ;ﬁaﬂ eyl ° Tt
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Options:
1. % 2EE - &0

2. % 472 -CE
3. ¥ 321 -23
4 % 137 -21

Question Number : 22 Question Id : 5459276890 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In1 the fOllOWiﬂg question, select the related nurmber from the gZiven alternatives.

28 F8d 56 7Y
Options:

1. % 4242

=z ¥ 3136

3% 2996

4 % 3436

Question Number : 22 Question Id : 5459276890 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T v | o my Hwedt o & Seted wear w1 g
257845607

Options:

1. % 4242

2 ¥ 3136

3. % 2996

4 % 3436

Question Number : 23 Question Id : 5459276891 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
In the following question, select the related number from the given alternatives.

298 149 .. 4757
Options:
1. % B8

2. % 36
3. % 132
4. ¥ 74



Question Number : 23 Question Id : 5459276891 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TrafetaT na § oy Ty et § # Heidd dear w1 giam

298 149 4757
Options:

1. % g5

o % 86

3. % 132

4 ¥ 74

Question Number : 24 Question Id : 5459276892 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the number which can be placed at the sign of question mark (7) from the
Ziverl alternatives.

12 13 16
[11]155] 8| |9 ]233[12] [12] 2]15]|
14 17 20

Options:
1.9 287

= ® 397
I ® 258
4 ® 307

Question Number : 24 Question Id : 5459276892 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e wg # o W Tt H 8 war ey (7) o T U ST STet ST

12 13 16
(11155 8| |9 |233]12] [12]2]15]
14 [17 20

Options:
1.9 287

o #3497
3. ® ooi
4 # 307

Question Number : 25 Question Id : 5459276893 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



In the following question, select the number which can be placed at the sign of question mark (7) from the
Ziverl alternatives.

1 g | 15| 21
1 9 [ 16 | 22
14 | 10 | 17 | 23
117 45 | ? | 396

Lo | bd

Options:

1. % 252
2. % 178
3. ¥ 192
4 % 162

Question Number : 25 Question Id : 5459276893 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TaeE ng # Ty W Tt 8 we ey (7) S 0T ST e ST @ e

1 g | 15 | 21
1 9 |16 | 22
14 | 10 | 17 | 23
117 45 | ? | 396

[ ]

LIS ]

Options:

1. % 252
2. % 178
3. ¥ 192
4 % 162

Question Number : 26 Question Id : 5459276894 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

If W' means =, ' means "»}, Y means '+ and ‘2 means -, then 2 Y 448 W 112K 4 X 2Y¥YE8Z 15 =7
Options:

1. % 25

2. % 37

3.9 27

4 % 36

Question Number : 26 Question Id : 5459276894 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ol WomTant =, W mT et o, Y el mm T wrenf S a2 Y448 W 112X 4K 2YSZ 15 =7
Options:

1. % 25

o ® 37

3927



4. ® 36

Question Number : 27 Question Id : 5459276895 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the missing number from the given series.

1,2, 6, 24, 120, 7
Options:

1. % 240

= & 720

2% BE0

4 % 360

Question Number : 27 Question Id : 5459276895 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

AT g # &7 T et H & oA S A e
1,2, 6 24, 120, 7

Options:

1. % 240

2 ¥ 720

2% EB0

4. % 360

Question Number : 28 Question Id : 5459276896 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the missing nurmber from the given series.

2,6, 30,60, 130, 7
Options:

1. % 260

2. % 216

3. ¥ 210

4, % 284

Question Number : 28 Question Id : 5459276896 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Tt e # 1 1T A H W o S S R
2,6, 30,60, 130, 7

Options:

1. % 260

2. % 216

3¢ 210

4 % 3ZR4



Question Number : 29 Question Id : 5459276897 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following questiorn, select the missing number from the givern series.

2,8 14, 20, 25, 7
Options:
1. % 20
= % 38
3. ¥ 32
4 % 42

Question Number : 29 Question Id : 5459276897 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Temfaad wa 7 S1 1 afeen 7§ i T Fi
2, 8, 14, 20, 26, 7

Options:
1. % 20

> % 36
3. ¥ 32
4. % 42

Question Number : 30 Question Id : 5459276898 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Identify the diagrarn that best represents the relationship among the given classes.

Sun, Moon, Earth
Options:

&

0O
O

(GD




Question Number : 30 Question Id : 5459276898 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TE W - AT Al T T AT o s o Herel &1 a1 e HedT o)

Options:

9

SLE

2

©) 8] o

Question Number : 31 Question Id : 5459276899 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the given figure, how many teachers are neither married nor conservative?

Conservative

Teachers

Married

Options:
1. %7
Z w12
3 0% 11
4 % 10

Question Number : 31 Question Id : 5459276899 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



I g et ®, T Mo 7 1 Faie & 7 £ e 8

e 2

Options:
1. %7
e %12
3% 11
4 % 10

Question Number : 32 Question Id : 5459276900 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Rohan walks 10 km towards north from a point 4. Then he turns right and walks € km. Then, he again turns
right and walks 10 ki In which direction is he now from the starting point?

Options:

1. % North

2. % DMorth - east
3. ¥ East

4. % South - east

Question Number : 32 Question Id : 5459276900 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T T A & 10 Tr Al 39 &1 &K gea 31 W ag e g=ar & ot & R Al oeaT 81 i ag O S0 g=ar £ oY 10 Tor ot e
@@%ﬁgﬁmmﬁmﬁ@ e e

Options:

1. % 3¢

2 % Fuw-yd
3 ¥ O

4 % gigor-eF

Question Number : 33 Question Id : 5459276901 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Tejas walked 10 metre towards north. Then, he turned left and walked 10 metre. He turned right and walked &
metre. At 1ast he turned right and walked 10 metre. How far and in which direction is he now from his starting
point?

Options:

1. % 16 metre, North
2. % 20 metre, North
3. % 16 metre, South
4. % 26 metre, North



Question Number : 33 Question Id : 5459276901 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A T W AT 10 et =am T a5 a1 & 727 3T 10 Hiet I@N a5 218 o g7 3% 6 Hier =@ o # 9 218 e geT &
1Dnﬁaaﬁﬂagamﬁrmﬁfﬁﬁgﬁmﬁm=ﬁgﬁﬁmﬁmﬁ%? ¥ ¥

Options:

1. % 16 dfex, am%
o % 20 HREY I
3. % 16 ffer, =igm
4 ® 2g HEy, T

Question Number : 34 Question Id : 5459276902 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the odd figure from the given alternatives.

Options:
c—]
1. %
o W
3"
L]
4 &

Question Number : 34 Question Id : 5459276902 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T na & o my st # & Buw sy @ gh

Options:

 —




4 &

Question Number : 35 Question Id : 5459276903 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the wrong figure from the given series.

QD] DD D

@

Question Number : 35 Question Id : 5459276903 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Tt wag ® 1 T afEe # 9 AT ST @

QD] D] ]|

Options:

1.9




5 % C)
- C)
h..'i)
® X
4 ®

Question Number : 36 Question Id : 5459276904 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Two figures given on the left side of () are related with some logic rule/relation. Select the missing figure on
the right of () from the given alternatives based on the same logic frule frelation.

8| (@[] @ = |

Options:

®

1 W

®

©

Question Number : 36 Question Id : 5459276904 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
() AT BT SF TR S sTepd e et de TR werer & Fete g1 o e et # | () & SRt o |Ae aor) | deer e
ST A ST i

% @)@ : |

Options:




pic
3 % ©

Question Number : 37 Question Id : 5459276905 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& piece of paper is folded and punched as shown below in the question figures. From the given answer
figures, indicate how it will appear when opensad?

; o
D 2] ool

Options:

o o]

O oa O

O 0a ©
1 ® o o

o o

o a9 o

o 00 ©O
o # o o

o Qo

o oo o

o oo 9
= w |o O

o o

o oo O

o 00 ©

o
L]

4



Question Number : 37 Question Id : 5459276905 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tl o e angtdat § Ty Sgar 0 o HIS® a1 a2 Giet & o918 oy [0 Ju¢ ST ST (G| e

: T .
...... 'j i ool .
e -
Options:
5] 5]
o oo O
o 0n O
1 & o o
o a
o 09 o
o 00 O
- % [o =]
o o
o G O
O oo ©
=z % |2 #]
3] 2]
o oo O
o U0 O

Question Number : 38 Question Id : 5459276906 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which answer figure will complete the pattern in the question figure?

XX
K

Options:

N

1. ¥

N




ES

Question Number : 38 Question Id : 5459276906 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
I H IO ATFIT T ATHI o W P T A7

XX
X 2

Options:

N

1 W

N

B

Question Number : 39 Question Id : 5459276907 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
From the given answer figU.I'ES, select the one in which the question figure 15 hidden jembeddad.

0

Options:




Question Number : 39 Question Id : 5459276907 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& ¢ Foe srplart # & Iw I sngid @ gy Fe # v sg e Rz &

0

Options:

Question Number : 40 Question Id : 5459276908 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Ev folding the given paper, which of the following cube cannot be made?

Option

Question Number : 40 Question Id : 5459276908 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T Ty W W Hied W, e T # € @ |97 O AR e o1 a7

7
6

Options:
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Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 5459276909 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following state - folk dance pair is MOT correct?

Options:

1. ¥ Rajasthan - Jhurmar

2. ® Gujarat - Dandiya Baas
2. % Punjab - Bhangra

4 % Maharashtra - Lavani

Question Number : 41 Question Id : 5459276909 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T 8 & #1991 0= - A% T00 T I T51 A1 57
Options:

1. & TR - AT

2 ® TR - STEAT O

3. ® AT - AIET

4, % FENTY - AT

Question Number : 42 Question Id : 5459276910 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In which of the following state the Karnakhya temple is situated?

Options:

1. % Uttar Pradesh

2. ¥ Azsam

3. % Manipur

4. % Madhva Pradesh

Question Number : 42 Question Id : 5459276910 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

W it Tagieag # & forg veg # 9T 27
Options:

1. % FRwE

2. ¥ aeg

3 % g

4 % gEg T

Question Number : 43 Question Id : 5459276911 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwho among the following is a Sitar player?

Options:
1. % Smita MNagdev
2. # Dava Shankar



2. % Anant Lal

4 % Zakir Hussain

Question Number : 43 Question Id : 5459276911 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T # & &9 uw Haw aew 27

Options:

1. & e A
o, % ZIT I

3. % 39T A
4. % ST g

Question Number : 44 Question Id : 5459276912 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Il which month the Pongal festival is celabrated?

Options:

1. ® March
= % May

2. ¥ January
4 % August

Question Number : 44 Question Id : 5459276912 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TiTe catg o ARt # AT =T &7
Options:

1. % g

z ®

2 & Fad

4, % aureg

Question Number : 45 Question Id : 5459276913 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following is NOT a component of Government Budget?

Options:

1. % Revenue Expenditure
= % Capital Receipts

2. ¥ Gender Budget

4. % Capital Expenditure

Question Number : 45 Question Id : 5459276913 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT # & a7 S S o AT A5l a7
Options:

1. % Treg =g



2. % g e
3. ¥ HfiTw e

4 % g

Question Number : 46 Question Id : 5459276914 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
what is the full form of NFPA in context of Banking Systern?

Options:

1. ¥ Non-FPerforming Assets

= % National Productivity Authority
Z. % Non-Paying Assets

4. % National Productivity Association

Question Number : 46 Question Id : 5459276914 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

of FET WOt o #gd | LU @ OOt T g
Options:

1. ¥ ST T T

2. % Joee Hisfreler ammieer

3. % d-ugT mEed

4 % Jgea ST e THiTeTe

Question Number : 47 Question Id : 5459276915 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following is an agricultural bank?

Options:

1. ® SIDEI

2. % Reserve Bank of India
2. ® State Bank of India
4 ¥ MNABARD

Question Number : 47 Question Id : 5459276915 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TEERT TN T i oy g S

Options:

1. % oz

2. ® e ferd S
z ¥ qrdg T d®

4 ¥ qEE

Question Number : 48 Question Id : 5459276916 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
substances used to test the acidity and basicity of a solution are knowr as

Options:



1. = Salt
- % Bases
= % [ndicator

4. ¥ trairers

Question Number : 48 Question Id : 5459276916 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ot Teera ot STTETaT AT ATERdT ST U4 T e O T SUT T S AT uen @

Options:

1. % waor
2. % HWE
3 ¥ g
4 % gidyew

Question Number : 49 Question Id : 5459276917 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the folln:nwing Staternent(s) is/are true about Suspension’?

{[) Particles do not scatter bearn of light passing through it.
101 It's 3 heterogenaeous rmixture.

110 It's & hormogernous rixture.

1%} Particles can be seen by naked eye.

Options:

1. % Only 11
2. % only I
3 ¥ land IV

4 % [andll

Question Number : 49 Question Id : 5459276917 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TrgietiaT & & & 919 F9H Fead & oW o #Jal 287

(1) T T T[T ST T T ot e oy ety =t e
(11 =g U Feremidt o 21

(111} =I5 e AT TE 2

(1) 0T T =W STt & ST S HewaT )

Options:
1. % Faal

= % HEell
SO I TRV
4 % [ 971l

Question Number : 50 Question Id : 5459276918 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
For separation of different gases from air, which process is used?

Options:



1. % Distillation
2 % Condensation
= % Fractional Distillation

4. % Vaporization

Question Number : 50 Question Id : 5459276918 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TaT & Tt et & gerge & iy, e wirar @7 o= T AT 8
Options:

1. % amHad

2 % guaa

= ¥ g amEE

4 % g

Question Number : 51 Question Id : 5459276919 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The purpose of having standard units is

Options:
1. ® egsier measurernents

= % uniformity in measurerments
3. % measurement of large quantities

4. % measurement of small quantities

Question Number : 51 Question Id : 5459276919 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
IR AT (50§ BT F89 _____ B
Options:

1. % e g

2. ¥ o o e
3. % =t otdt @ A
4 % it wtdat wm A

Question Number : 52 Question Id : 5459276920 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

terminal of a cell must be joined with the terminal of another cell to form a battery.

[. Megative ,positive
II. Negative , Megative
IIT. Positive | Positive

Options:
1.9]

2. % 1]
3. % JandIII
4. % Il and III



Question Number : 52 Question Id : 5459276920 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
LT ST o TR U He TTHR T e A ______ TR o |1 2T AR

[ A, &
IT. Jm &
III. &, &q

Options:
1.9

=z R

3. % 1 J9rlll
4. % 11 g9l

Question Number : 53 Question Id : 5459276921 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
At puberty testosterorne in hurnan beings is released by

Options:
1. * Owaries

2 % Testes
2. % Pituitary Gland
4 % adrenal Gland

Question Number : 53 Question Id : 5459276921 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT | IR SEe et ST 1T TefraT TaT 21

Options:

1. % SIETaeT (3Tae

2. g e

3. % o iy (fgeera miEa)
4 % giEad Ul (I2ad W)

Question Number : 54 Question Id : 5459276922 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following parts of a flower forms part of stamen?

Options:

1. % Stigma
> # Style
2. ¥ Anther
4. # Sepal

Question Number : 54 Question Id : 5459276922 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Bl 1 R TET § & HI9 |7 1T YR T T 917 adT 27
Options:

1. % Fidem



= % gidwr
S & URTITER AT
4. ® g ad

Question Number : 55 Question Id : 5459276923 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Cuter membrane of Mitochondria is ______
Options:

1. % deeply folded

= ¥ porous

3. % non-porous

4 * folded

Question Number : 55 Question Id : 5459276923 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ATE I TTe ol i amgel fermett ______ EAGTE

Options:
1. % arféem aieia

2 ¥ fifeg
z % afeted
4 % gag

Question Number : 56 Question Id : 5459276924 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following river does NOT flow into the Bay of BEengal?

Options:

1. # Mahanadi

= % Brahrmaputra
2. ¥ Tapi

4 % Krishna

Question Number : 56 Question Id : 5459276924 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

e & & 21 | 7o o & =St § waned A5l gl ae
Options:

1. % mggmar

2. % wRA

3. & gt

4. % T

Question Number : 57 Question Id : 5459276925 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
India's only active wolcano is found on a Barren [sland which is located in

Options:



1. ¥ andaman and MNicobar Islands
= % Lakshadweep Islands
3. % Malabar Coast

4. % Himalayas

Question Number : 57 Question Id : 5459276925 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

URT T UFATT Tl FeleATg@! aX- Eid 0% I 14T & At
Options:

1. ¢ 3iz0M oK EleR Svagg

2 % TyET Ly

3. ® AR I

4. % TEAET

Question Number : 58 Question Id : 5459276926 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following does NOT affect soil formation?

Options:

1. * Parent Material
= % Topography
3. ¥ Landslides

4. % Climate

Question Number : 58 Question Id : 5459276926 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TaiaET # &y gey i @ maiEe 98t #ear 27
Options:

1. % ey grAdr

2, % TR
3. ¥ EEe
4. ® Feag

Question Number : 59 Question Id : 5459276927 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Hindon is the tributary of which of the following river?

Options:

1. ¥ Yarmuna
= % Ganga
3. % Krishna

4. #* Kaweri

Question Number : 59 Question Id : 5459276927 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

oo emiae & & Ty =<t & wgrge =921 27



Options:
1. & T
o ® T
3. % g
4. % T

Question Number : 60 Question Id : 5459276928 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
is the study of soils.

Options:
1. % Paleontology

2. % Ecology
2. ¥ Pedology
4. #® Geology

Question Number : 60 Question Id : 5459276928 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

______ T & ST 2l

Options:

1. % Sanfs

2. % v

3. qfr

4 * 'ij—ﬁl:‘ﬂ:f
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Group Marks: 20

Revisit allowed for group Instructions? : Yes

Maximum Instruction Time: 0

Minimum Instruction Time: 0

General Awareresss

Section Id : 545927344
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions; 20
Number of Questionsto be attempted: 20

Section Marks: 20



Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 545927412
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 5459276929 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
YWhich river is also known as “Sorrow of BEihar'?

Options:

1. ® Charmbal
2 % Yarmuna
3. % Gomati
4. ¥ Kosi

Question Number : 61 Question Id : 5459276929 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ty =T T e ST g off w27
Options:

1. % e

2. % g

3. ® et

4 & FrEr

Question Number : 62 Question Id : 5459276930 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
______ advocated remarriage of widows in 14th CETtury.

Options:

1. % Ishwar Chandra Vidyasagar
= % EV. Ramaswarny MNaicker

3. % Swami Vivekananda

4. % Jyotiba Phule

Question Number : 62 Question Id : 5459276930 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
______ + 1 5af Tt o ereramert & qAidang & g @i

Options:

1. & 2w o TTeman
o, % £ AT TATamT AR
= ® ot Edw e

4 % AT Gl



Question Number : 63 Question Id : 5459276931 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
______ was the reverue adrministration and civil justice systern in Bengal under the Mughals.

Options:

1. % Mizamat
2. % Armir

2. ¥ Diwani

4 % Mansab

Question Number : 63 Question Id : 5459276931 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
_____ [Tl &k STef= STTer § el WA 71T AT =me Hore 26

Options:

1. % fo=mma
2 % it

3 ¥ SiaEr

4 % g

Question Number : 64 Question Id : 5459276932 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
______ was the eldest son of Babur.

Options:

1. ¥ Humayun
2. % Akbar

3. % Shah Jahan

4. # Changez Khan

Question Number : 64 Question Id : 5459276932 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
HTald T el a1 §F oM

Options:

1. ¢ A
e 1 T

3. ® amgagl
4. ® A G

Question Number : 65 Question Id : 5459276933 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
______ was called ‘Indraprastha’ during the rule of Fandavas.

Options:

1. % Calcutta
=2 ® Aory

3. % Jaipur
4. % Delhi



Question Number : 65 Question Id : 5459276933 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tisal o ST F ERT ______ T TR TETAGT 4
Options:

1. % el

2. % AT

3. % T
4. ¥ fawer

Question Number : 66 Question Id : 5459276934 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

‘W] UZ &7 a-Teifear & 54 giaar qeae e ol 37
Options:

1. ® o7 THTeR e

2. % TR T T

2 ® gusl e

4 TIETTE FET

Question Number : 66 Question Id : 5459276934 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who wrote the boolk FPoverty and the Un-EBritish Rule in [ndia’™?

Options:

1. # Bal Gangadhar Tilak
2. % Gopal Krishna Gokhale
3. % MG Ranade

4. ¥ Dadabhai Naoroji

Question Number : 67 Question Id : 5459276935 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following was a Pallava ruler?

Options:

1. ® Rajarajal

2. % Rajashekhara Verma
3. ¥ Mahendravarman

4. % Kumaragupta

Question Number : 67 Question Id : 5459276935 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TrgfetieT & & @ U Uratd AT 277

Options:



4. % FARTA

Question Number : 68 Question Id : 5459276936 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which is the third-highest civilian honor in India’

Options:

1. % Padma Vibhushan

2. % Padma Bhushan

2. % Arjuna Award

4. % Dadasahelb Phalke Award

Question Number : 68 Question Id : 5459276936 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT H TR Fa 35 ANTE TFATT B a7 57

Options:

1. % oy femgmr

2. ¥ TRT

3 % SR [WERR

4 % TR Bled [EPR

Question Number : 69 Question Id : 5459276937 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which male singer won the Filmfare Award 2019 for Best Flavback Singer?

Options:

1. % Sonu Migam

2 ¥ Arijit Singh

3. % Shankar Mahadevan
4. % Abhay Jodhpurkar

Question Number : 69 Question Id : 5459276937 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o o T W e O T W 2019 Therte [ ST

Options:

1. % g

2. ¥ arfteT g
3 % g AR
4. ® onge SreEE

Question Number : 70 Question Id : 5459276938 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which actor has been honcred with the Padra Shri 2019 in the ElI't—ElCtiﬂg—filI‘ﬂ categoryy

Options:
1. ¥ Manoj Bajpayes
2. % Nawmzuddin Siddiqui



2. % Rajkurnmar Rao
4. % Shakti Kapoor

Question Number : 70 Question Id : 5459276938 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT AT T AT o ey 8t 2019 & fre aivaT & ST forar mam 27

Options:
1. g ST

2. ® qargE i W
3. ® THEFAR 7T
4 % gk O

Question Number : 71 Question Id : 5459276939 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which nowel has won the Man Booker International Frize 20137

Options:

1. % The Vegetarian

2. % Heartland

3. % Sea of Strangers
4. ¥ Celestial Bodies

Question Number : 71 Question Id : 5459276939 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A T SeC I e 2019 e e o SAtaT 87

Options:

1. % ga=eiaa

2. % idz

SR i 1 o
4 GofCaa 1S

Question Number : 72 Question Id : 5459276940 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which courntry waill launch the world's first man-made moon by 20207

Options:

1. # India

= % Japan

2. ¥ China

4. % Afghanistan

Question Number : 72 Question Id : 5459276940 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

B AT 3 2020 T GIAT BT UEHAT A =T8T IgAT fleed HETT?
Options:

1. % 9Rd



glﬁq-rm:[
3. ¥ o
4 ® ST

Question Number : 73 Question Id : 5459276941 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Chandrayaan-2 will be launched from which state by [SRO?

Options:

1. ¥ Andhra Pradesh
= % Maharashtra

2. ® Kerala.

4. % Rajasthan

Question Number : 73 Question Id : 5459276941 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TOL ENT TedT -2 W o T o waitT T s
Options:

1. ¥ amerods

2. % W

3 % 9

4. % I

Question Number : 74 Question Id : 5459276942 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
et JaT # '35 T [ W T a?

Options:

1. % ofiITa sweE@t
2. % mEreH et

2. TARAH 5
4. % g e

Question Number : 74 Question Id : 5459276942 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who introduced "Objective Resolution” in the Constituent Assermbly?

Options:

1. ¥ BE Ambedkar

2. ® Mahatrma Gandhi
3. % Jawaharlal Mehru

4. % Rajendra Prasad

Question Number : 75 Question Id : 5459276943 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Article 17 of the Indian Constitution deals with which of the following?

Options:



1. % abolition of Untouchakbility
2. % Equality of opportunity in matters of public employment
% % Continuance of rights of citizenship

4 # Protection of interests of minorities

Question Number : 75 Question Id : 5459276943 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
W 17 Hierer #7 argeds 17 ety § & e garem 27

Options:

1. & ST T T

2. % i T & e o SEe & aHeeT
%, ® qmTiteraT o TS ®T =T AT

4 % awEEgm-om o T @ avym

Question Number : 76 Question Id : 5459276944 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Article 19 of the Indian Constitution includes which of the following right?

Options:

1. ¥ Right to freedom of speech and expression
2. % Right against exploitation

= % Right to Constitutional Remedies

4. % Right to freedom of Religion

Question Number : 76 Question Id : 5459276944 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
WA 1o dfererd & argeeg, 19 # Fafeies & & 219 a1 erfiew aiie g7

Options:

1. & o U STTET 1 T T FT ST
2. % T 3 g, ST

3. % g SUSIR @ ST

4. % o} & wadadT @ ATEER

Question Number : 77 Question Id : 5459276945 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Uniform Civil Code is mentioned in which Part of the Indian Constitution”?

Options:

1. % Part III
= ¥ Part IV
3 % Partll
4, % Part ¥V

Question Number : 77 Question Id : 5459276945 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A & GiEaT &7 Jeag ARG 1 Ficre o g AT § 87



Options:

1. % 9qmrlll
= W IV
3. % il
4. % 9y

Question Number : 78 Question Id : 5459276946 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

2018 %9 51T feber F7 o st T T am
Options:

1. % S

o W aNT
= % affedferr
4 # Frdt

Question Number : 78 Question Id : 5459276946 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
2018 Men's Hockey World Cup was held in

Options:
1. # Japan
2 % India

= % Australia

4. % Gerrmany

Question Number : 79 Question Id : 5459276947 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Hirma Das 15 associated with which sport?

Options:

1. % Chess

2. % Boxing

2. #® Swirmrming
4 ¥ Athletics

Question Number : 79 Question Id : 5459276947 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T 2T orey et & et 27
Options:

1. % g

2 ® ggarr

3 % AT

4, T

Question Number : 80 Question Id : 5459276948 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



In 2019, the International Clympic Cormrmittee {OC) has formally opened its new headquarters in
Options:
1. ¥ Switzerland

2. % Belgium
3. % France

4. % Singapore

Question Number : 80 Question Id : 5459276948 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
2019 H SFEiE MieE Tl (e, e = ______ o STy &9 & ST 79T eI AT gl

Options:

1. & e
o % Sieram
3 % B
4 % FETT
Arithrmetic Abalityl
Group Number : 5
Group Id: 545927345
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Arithrnetic Ability1
Section Id : 545027345
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number : 1
Sub-Section 1d: 545927413
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 5459276949 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
If x and v are even numkbers, then which of the following is correct?

Options:

1. % x+ v+ 1iseven
2 ¥ x4+ viseven
3% x4+ v+ 3iseven
4 # x+v+ 2is0dd

Question Number : 81 Question Id : 5459276949 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

i J4T ¥ Eﬂﬂ@ﬁ%’ ﬁﬁﬂﬁﬁ?ﬂ'ﬁﬁﬁﬁ?{mﬂﬁ%’?
Options:

1. ¥ y+vy+1998

o ¥y +vyaEAE

S ® y+yv+EAE

4 ¥ x4y +oEwmy

Question Number : 82 Question Id : 5459276950 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If 7248X is divisible by 16, then what is the value of X7

Options:
1.% 2
2 % 4
390
4 % 3

Question Number : 82 Question Id : 5459276950 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Al 7248%, 16 oMo g, T FTAF FAT 27

Options:
1. %2
=z % 9
390
4 ® 3

Question Number : 83 Question Id : 5459276951 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Whatisthevaluel::fE+E+ixi+i+ixz+gr_;-
2 6 T4 s 212 3

Options:

1. v 100)21

2 % 50j11

3 % 75i1E

4. % 100731



Question Number : 83 Question Id : 5459276951 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

1+ﬂ+ixi+i+ixz+aa¥rmwﬁ?
2 16 7T 4 16 21 2 3

Options:

1.9 100121

Z % 5011

3. % 7513

4. % 100731

Question Number : 84 Question Id : 5459276952 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
fA=2x2 +50 andB=

& e v s P 3 % 28 then what is the value of B/A?
7 28 343

4 16
5 .25 “F 27

Options:

1. % 1301/6881
2 ¥ 1281/441
3% 12111371
4 % 1291/441

Question Number : 84 Question Id : 5459276952 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

e L R N W g, ar B/A T HT FIT 27
77 28 343 5725 79

Options:

1. % 1301/681
2. ¥ 1281/441
3% 12111371
4 % 1291/441

Question Number : 85 Question Id : 5459276953 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

There are 2 types of rice. The amount of the rice are 7032 kg, 851 kg and 333 kg respectively. The rice are
packed such that no two types of rice are mixed. If the size of packet is largest and all packets have same size,
then what is the nurnber of packets?

Options:
1. % =7
2 ¥ C1
3. % 43
4 % 329



Question Number : 85 Question Id : 5459276953 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

= WeRTE 3 =ITeel g1 SITersl &1 AT A 703 TR0, 851 T 0T 9T 333 fon 0. ) Tiew! &1 56 a4y &rem 74 § o foet of 2
T & T A1 HeT T2 81 =1ie Odve @7 010 Had 9=T 5, a7 Qae ! & ST o7 &

Options:
1. % 37
2 ¥ 51
3. % 43
4 % 39

Question Number : 86 Question Id : 5459276954 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
E when divided by 5, 6 and 3 leaves remainder 1 in each case. What can be the value of KY

Options:

1. % 571land 1451
Z % 1851 and 1561
2% 2521 and 2601
4 % 1671 and 2151

Question Number : 86 Question Id : 5459276954 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
S, & T4 3 | ToTiag o 0¥ weder edrid # K SWma 1 247 21 K &7 019 #7475 Jaar 57

Options:

1. % 571 99r 1451
2. % 1951 99T 1561
2% 2521 Fam2e01

4 % 16719413151

Question Number : 87 Question Id : 5459276955 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Whatisthevalueof (4 + 18 <9 -6 - 121/ {18 x 15 -+ &+ 23 -11)7

Options:

1. % 26|77
2. % 1/5
3.9 1|3
4. % 2366

Question Number : 87 Question Id : 5459276955 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
(4+18><9+6—12)!(18x15+6+23—lljlﬂ'TFII'IT-rER]T%?
Options:

1. % 26|77

2. % 1/5

2.9 13



4. % 2366

Question Number : 88 Question Id : 5459276956 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
416X92Y is divisible by 88, What can be the value of ({ +Y) | ¥ - X)?

Options:

1. % 43
2 % 78
3. % 103
4 ¥ 5|3

Question Number : 88 Question Id : 5459276956 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
416¥92Y, a8 A RWRT STt 3 (K + V) | (¥ - X) FT AW 47 51 AFdT 57

Options:

1. % 4/2
2. % 7|6
3 % 10(3
4. ¥ 5|3

Question Number : 89 Question Id : 5459276957 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What is the value of (0.5)" +(0.125) +(0.12)" +(0.02) +(0.18)" +(0.04) + (0.22)" = (0.02)" + (0.9)’ = (0.03)*?
Options:

1. % 91247

2. ¥ 93453

3% 1011.42

4. % 86121

Question Number : 89 Question Id : 5459276957 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

~
i

(0.5)" +(0.125) +(0.12)" + (0.02) +(0.18) "+ (0.04) + (0.22)* + (0.02)" + (0.9)° +(0.03)" FT AT FaT &7
Options:

1 % 91847

2 ¥ 93453

3 % 101142

4 % 86121

Question Number : 90 Question Id : 5459276958 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Whatisthevalueof 94+ 9+ 18 x 27 + 36 - 9 x 1834+ 54 = 9 x 187

Options:



1. % 40102
2. ® 397)2
3.9 4052
4. % 41712

Question Number : 90 Question Id : 5459276958 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
G+ 9= 1827 +36-9x18+54 + 9 x IEFTHAFATE?

Options:

1. % 4012
2. ® 3972
3. ¥ 4052
4 % 4172

Question Number : 91 Question Id : 5459276959 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The marked price of a table is Bs 2500 and its selling price 15 Bs 2275, What is the percentage discournt?

Options:

1. ® E5 percent
= % 35 percent
3. ® 5L percent
4. % 45 percent

Question Number : 91 Question Id : 5459276959 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e Teq T ST Grd 3500 0 ¢ T2 JEE o grd 2275 ¥ g1 §F Widad 9T 57

Options:

1. % g5 ufdem
o ¥ 35 udaT
3. % SSoidea

4 % 45 gigaT

Question Number : 92 Question Id : 5459276960 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The average age of 20 girls is 25 years. The average age of another 30 girls is K years. If the average age of all
S0 girls is 24 years, then what is the value of K7

Options:
1. % 20
= % 35
3. ¥ 40
4 % 25

Question Number : 92 Question Id : 5459276960 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



zaﬂgﬁtﬂajfﬁraﬁﬂ?raﬂ%a@% =T 20 At S ad ey Koo 1 oty ot S0 Al &1 ohad g 24 e g arK w0
A FT 7

Options:
1. % 20
= % 35
3.9 40
4. % 25

Question Number : 93 Question Id : 5459276961 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A trader incurs a loss of 50 percent after allowing a discount of 40 percent. If 20 percent discount is giver,
then what will be the profit/loss percentage?

Options:

1. % 33 33 percent, profit
2. % 3333 percent, 10ss
3. % 25 percent, profit

4. # 2F percent, 1oss

Question Number : 93 Question Id : 5459276961 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
40 Wi AT T G o o WITT Uek Tolshd T 1 S0 Widad @ gTi 51d1 g1 Al 20 Widad @l G o A1 5, 91 A0 T Wi 2T w1 ge

Options:

1. % 3333 uideE, @
2. ¥ 33 33 uidemE, 51
3. % 25 Oidem, @

4. % 25 nidem, g1

Question Number : 94 Question Id : 5459276962 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
P is 4 times of . < is how much percent less than F?

Options:

1. ¥ 75 percent
2. ® 25 percent
3. % B0 percent

4. # 30 percent

Question Number : 94 Question Id : 5459276962 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
P, Q@14 THATE O, F & TR Uidard &7 57

Options:

1. ¢ 75 ufdeT
2. % 25 uide
3. % g0 uideT
4. % 20 T



Question Number : 95 Question Id : 5459276963 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The population of a town increases by 60 percent every year. If after 2 years from present the population is
27040, then what 15 the present population’

Options:

1. % ZE000
2. % ZE000
2% 22000
4. % 24000

Question Number : 95 Question Id : 5459276963 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T S5 & e e ay 60 UTdad & o¢ F 1 51 ie, ad A & 2 a8 Wad SaweaT 87040 FET S, T7 T AT SIeET #4757

Options:

1. % ZR000
2. % 26000
2% 22000

4. ¥ 34000

Question Number : 96 Question Id : 5459276964 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

L is 20 percent less than T but T is 20 percent more than R, Jis 30 percent of Wand Wis 10 percent of T. Jis
what percentage of B?

Options:

1. % 4 3 percent
Z % 3.9 percent
3. % 6.1 percent
4. % 3 4 percent

Question Number : 96 Question Id : 5459276964 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
L, T #20Udad # & W T, R & 30 Widaa aféer 81 [, W ST 30 Ui & qam W, T &7 10 Uid9d 81 ], R &7 &7 nidad 27

Options:

1. % 43 ofda
o ¥ 3 oAt
3 % 6.1 uidaT

4 ¥ 3 4udaT

Question Number : 97 Question Id : 5459276965 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The selling price of a product is 75 percent of the cost price. What is the loss percentage?
Options:

1. % 33 33 percent



2. ¥ 25 percent
3. % 1667 percent
4. ® 20 percent

Question Number : 97 Question Id : 5459276965 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
U 2oUTg, 1 T d Hod I 3 0rd &7 75 Uidad 81 g1 Hid < 747 87

Options:

1. % 3333 0T
2. ¥ 25 uideT

3. % 1667 UideT
4. % 20 nideT

Question Number : 98 Question Id : 5459276966 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

By selling an article for RBs 156 more, Rajat earned a profit of 4 percent instead of a loss of 8 percent. What is
the cost price of the article?

Options:

1. % Rs 1400
2. % Rs 1352
3. ¥ Rs 1300

4. % Rz 1196

Question Number : 98 Question Id : 5459276966 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T 9%q %1 156 T fTerm H skl WY, T4 1 8 Widard @0 g & a1 4 Wid o @7 o1 FAAT 81 a6q F1 & o F97 57

Options:

1. % 1400 o
o % 1352 7
3. ¥ 1300 70
4, % 1196 70

Question Number : 99 Question Id : 5459276967 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

] sells an article to K at a 1loss of 20 percent, K sells the same article to L at a profit of 40 percent. If L pays Rs
490, then what is the selling price of the article for J?

Options:

1. % Rs 500
= ¥ Rs 350
3. # Rs 375

4. % Rs 425

Question Number : 99 Question Id : 5459276967 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



I K 1 0% 9eg 30 Uidad & g1 oF st 8, K 39 SR ®1 40 Ui & @ T L S deaT 81 A L, 490 0 HT T weal
2, a1 ] oy 3 gy @ oy g e 87

Options:

1. % 500 w0
2. o 350 T
3. % 375 e
4, % 425w

Question Number : 100 Question Id : 5459276968 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
IfF|Q = 8/9and O - F = 12, then what is the value of P?

Options:
1. % 108
2. % 112
3. % 34
4 ¥ 98

Question Number : 100 Question Id : 5459276968 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AEP|Q =8[9 TMOQ-P = 12 % TP FTAM 7T 57

Options:
1. % 108
o % 11z
3% B4
4. 9 98
Arithmetic Abilityz
Group Number : 6
Group Id: 545927346
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Arithrmetic Ability2
Section Id : 545927346
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory

Number of Questions: 20



Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 545927414
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 5459276969 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
IfF: Q=2 :4dand G :E =5 3, then what is the value of 4F : & : BRY

Options:

1. #3:3:5
2. % 4:1:5
3. ¥ 32:1:3
4 % 212

Question Number : 101 Question Id : 5459276969 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

AEF: Q=3 :49MQ:R=5:3% dr4P: Q: SR ®FTAA AT 57
Options:
1. % 3
2 % 4
3.9 3
4 ® 2

= = = L
[ I O B W) R

Question Number : 102 Question Id : 5459276970 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The ratio of three numbers is 2 : 3 4. The sum of these numbers is 108, What is the largest nurmnber?

Options:
1. % 46
2 ¥ 48
3. % 56
4 % 42

Question Number : 102 Question Id : 5459276970 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T HEATE T SUTE 2 3 4 B T SEATell w1 AN 103 51 Hell sla | §EAT F4T 77
Options:

1. % 46

= ¥ 48

2. % 5B

4 % 42



Question Number : 103 Question 1d : 5459276971 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
REs 7000 becomes Bs 10360 in & yvears at simple interest. What is the per annum rate of interest?

Options:

1. % 10 percent
= ¥ B percent
2 % 11 percent

4, # 9 percent

Question Number : 103 Question Id : 5459276971 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR & 0T 7000 T2 6 e § 10360 #0451 A6 51 Wid 99 =7 &1 3¢ F47 57

Options:

1. % 10 e
2. ¥ g e
3 % 11U
4, ¥ gnidaT

Question Number : 104 Question Id : 5459276972 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& sum of money becomes Bs 22490 in 2 years when kept at compound interest {compounding annually). If
rate of interest is 14 percent per annurm, then what is the sum of money?

Options:

1. % Rs 24000
2. % Rs 27000
2. % Rs 2E000
4. % Rs 25000

Question Number : 104 Question Id : 5459276972 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

wwﬁraﬁmmﬁm W A 2 a0 H 32490 F0F 5T AW 51 IS 24T &l 3¢ 14 Uidag uid ag g, ar
AT T

Options:

1. % 24000 703
o ® 27000 T
3. % 28000 #0

4« 25000 F

Question Number : 105 Question Id : 5459276973 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Cormpound interest on a certain sum of money for 2 vears at a rate of 'v' percent per annum {compounding
annually) is Bs. 8385, Simple interest on the same sum at the same rate for 2 vears is BEs 7800, What is the
value of r?

Options:



1. % 12 percent
2. % 16 percent
3.9 15 percent
4 % 18 percent

Question Number : 105 Question Id : 5459276973 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T TTedT et oY ! mid e uid et &t g7 & (arite "o m) 2 a9 a@d g e 5385 w0 81 JET A RIS W Iei g 7 2
A T TR &4 7 500 T 31 1 HT A F47 57

Options:

1. % 12 uidem
2. % 16 Ui
3. ¥ 15 nideT

4 % 13T

Question Number : 106 Question Id : 5459276974 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Speed of a boat in upstream is 20 kmyhr. If the speed of strearm is & kmrhr, then how much distance will it
Cover in 2 hours in downstrearn?y

Options:

1. % 70km
2. % B0km
2% B2km
4. % 20 kamn

Question Number : 106 Question Id : 5459276974 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T =ITel T 11T IRT o Wid el S0 T #1527 §1 Aler o 1 7id 5 fop /Y 0eT 8, 1 o5 oW & SRifet 2 O | Tera=t gt o ¢ wi?

Options:
1. % 70 fmdr

= ® g0 fEd
. % 32 frA
4. ¥ 30 fF At

Question Number : 107 Question Id : 5459276975 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& train of length 600 meters passes another train of length 1000 meters in 96 seconds. If the speed of both
the trains is same, then what is the speed of each train?

Options:

1. % 18 kmjhr
2. % 21 km/hr
2% 24 kmfhr
4. % 20 lanhr



Question Number : 107 Question Id : 5459276975 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T 600 AleE Al (ETS T U 30 1000 AR (EIST #1196 T90E | U FdT 51 Ale a1 (arTaal & Tid 90 &, 97 Ted®
TATTIET T T FT B

Options:
1. ® 15 fop dtjeeT

/
2 % 21 oy dAtEer
Z. % 24 F AT
4« 30 fr At weT

Question Number : 108 Question Id : 5459276976 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& Doat covers 20 ki upstrearn and 60 krn dowristrearm in 5 hours. Boat covers 20 ki upstrearn and 30 ki
downstrearm in 7 hours. What is the speed of boat in still water?

Options:

1. % l4kmjhr
2. % 12 km/hr
3. ¥ 15 kmfhr
4 % 20 km/hr

Question Number : 108 Question Id : 5459276976 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T AT 20 o5 d g o T 60 T df aTRT % STgde S °e § a3 #¢d [ g1 A1d 30 T df o®T & uidge aor 80 o dt am @
W?ﬁ%ﬁa‘aw%wﬁmﬁnﬁw@

Options:
1. % 14 fop dtjeeT

!
2. % 12 fop At wer
= ¥ 1C TR AT T
4. % 20 fp At =T

Question Number : 109 Question Id : 5459276977 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Two taps T1 and T2 can fill a tank in 2 hours and 3 hours respectively. If an outlet tap T2 is opened, then all
three can together fill the tank in & hours. How rmuch time will tap T3 take to empty the completely filled tank?

Options:

1. % Z hours
2 ¥ 22 hours
2. % 4 hours

4. % 2 hours

Question Number : 109 Question Id : 5459276977 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T AAT L TUTT2 e Th! 1AM 2 O U7 3 U H W T 51 Al T aTe 76t T3 HT GIAT A, a1 d 141 T Ty Tiea St
16 U H 0GR B A T3 SIhell I8 T LT FE TRl ol FIRT o] H Tl o1 HH w117

Options:



1. % zwe
2 ¥ 3z
3 % 4w
4 ® o

Question Number : 110 Question Id : 5459276978 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

YVijay alone can do 2/4 of a job in 12 days. Ajay is twice as efficient as Vijay. How many days will Ajay take to
finish the same job alone?

Options:

1. % 16 days
2. % 12 days
3. ¥ Bdavs
4. % & days

Question Number : 110 Question Id : 5459276978 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Eﬂﬁ%ﬁmwfmﬁsm w12 Toa d o TwaT 81 o, a9 | AT FRGae 81 S0 ®1 @ T W | S ST T

Options:

1. % 1627
o % 12fT
z ¥ s
4 % gfq

Question Number : 111 Question 1d : 5459276979 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Raju and Shyam can complete a work in 20 days and 30 days respectively. They began the work, but Raju left
the work after some days and Shyarm cormnpleted the remaining work in 10 days. After How many days from
the beginning Raju left the work?

Options:

1. % 10 davys
2. % 7days
2. % Sdays
4. ¥ Zdays

Question Number : 111 Question Id : 5459276979 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T STH UF F1E 1 @A 20 T 7971 20 o § 97 god 31 I+ & &0 ToFam ot & wag TR A F 1 S faar
%ﬁwmmﬁmﬁqﬁwﬁmﬂmﬁﬁﬁﬁﬁﬁﬁmﬂqﬁmm e R

Options:

1. % 101"
o % 7iA
= % afq
4 ¥ 5fA



Question Number : 112 Question Id : 5459276980 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The length and breadth of a room is 16 metres and 12 metres respectively. If the total area of the four walls of the
room is 784 metres?, then what is the height of the room?

Options:

1. # 18 metre
2 ¥ 14 metre
3. ® 12 metre

4 % 13 metre

Question Number : 112 Question Id : 5459276980 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Tk HAY P FGE TAT A FAM: 16 A Fr 12 FeX g AR FA F AN @R F oFaA
ST 784 HIET §, @ HAL ST FAS T 87

Options:

1. % 165 d=x

= ¥ 14 fter

3 % 12 HET

4 % 130T

Question Number : 113 Question 1d : 5459276981 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& copper sphere of diameter 24 cm is drawmn into a wire of diarmeter & mrn. What is the length of the wire?

Options:

1. % 1240 cm
2. ¥ 1440 cm
. % 16800 cm

4 % 1400 cm

Question Number : 113 Question Id : 5459276981 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
24 AT AT I UF Tl F Tl T 0F S AT 0T aiet a7 # aiatd a o T3 21 91 & /AvTs 741 27

Options:

1. % 1240 WA
2. ¥ 1440w dt
3 % 1600 WAL
4. % 1400 #Ht

Question Number : 114 Question Id : 5459276982 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The height of a solid cone is 40 cm and the radius of its base is 30 cm. What is the cost of painting the total
surface area of the cone at the rate of Rs 7 per cm??

Options:

1. % Rs5 62,800

2 ¥ Rs 52,800

3. % Rs 48,800

4. ® Rs 58,800

Question Number : 114 Question Id : 5459276982 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
UF IE AF H TS 40 BAL T AW IS SR H om0 FA A T TR IR aM A T T aw F

ol qoOIT &b @ Tl & Hed FT g7

Options:

1. % 62,500 =
2. ¥ 52 500 T
3. % 48 500 T
4, % 5§ 800 T

Question Number : 115 Question Id : 5459276983 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The table given below shows the number of shirts of different companies in a shop.

Company | Number of shirts
Cl 27
c2 33
C3 26
C4 23
C5 43
CH 41

what is the ratio of number of shirts of company <1 to the total number of shirts of company C2 and C37
Options:

1. ¥ 2753

2 ® 5927

3 ® 6127

4 % 2781

Question Number : 115 Question Id : 5459276983 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



<t &t e 1ot U ga # o it i i d Ee wgaid t g

FIAT FHT T FEaT
Cl 27
C2 33
3 26
C4 23
5] 43
C6 41

AT C 1 Tl FHAT ST ST FT FUATC2 TATCS FT FHIAT P Fol AT G FT AT 27
Options:

1.9 2759

o % 5927

3 %5127

4 % 27:61

Question Number : 116 Question Id : 5459276984 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The pie chart given below shows the number of tigers in different zoos. The number of tigers in a particular
z00 are showrl as a percentage of total number of tiger in all the zoos together.

Wwhat is the difference in central angle of the sectors for Z1 and 237
Options:

1. % 13°

2 ® 367

3. ¥ 54

4 ® 7po

Question Number : 116 Question Id : 5459276984 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



et Team T g9 T Ay RiEaroet # aret @ e @ gaiar 8 0 Biae Bz | arat & a7 adt iz |
THFATERT aTat & e EeaT & Hid o o &0 H gt T gl

71 TUTZ3 OF EUE GRT a1 T 7 dha 1 @071 H 4T 317 57
Options:

1. % 18°

2 ® 367

3. ¥ 54°

4 ® 7z°

Question Number : 117 Question Id : 5459276985 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The pie chart given below shows the nurmber of female students in different subjects. The number of fernale
students in a particular subject are showrl as a percentage of total number of female students in all the
subjects together.

d z S5, 1521.:- \
20%

If the total nurmber of fermale students are 2600, then what is the difference in number of fermale students in
subvjects 51 and 547

Options:

1. % 412
2. % 455
=% 400
4 ¥ 437

Question Number : 117 Question Id : 5459276985 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % 412

o ® 458

3 % 400

4. ¥ 432

Question Number : 118 Question Id : 5459276986 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The bar graph given below shows the number of bags of different companies in a shop.

50 4
19

il

30 1 b '

o]
20 - ‘

Cl €2 C3 C4 C5 Cs 7

Mumber of bags

10 1

Company

Wwhat i5 the total munber of bags in the shop?
Options:

1. % 230

= W 221

3. % 232

4 ® 223

Question Number : 118 Question Id : 5459276986 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % 230

o ¥ o2l

3. % 230

4 % 223

Question Number : 119 Question Id : 5459276987 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The bar graph given below shows the production of wheat (in tonnes) in different states.

3500 1 3001 3011 3015
3000 A [ m [ ]

2500 1 2001 2000
_ 2000 1
1500 -
1000 -
500 1

Production of wheat {in
tonne)

The production of wheat in 52 is how much less than the average production of wheat (in tonnes) per state?
Options:

1. ¥ 598 4 tonne

2. % £95 4 tonne

3. % 798 4 tonne

4 ® 292 4 tonne

Question Number : 119 Question Id : 5459276987 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



et T e gre R Tty e # 1y & Foumed (2 ®) @ gt gl

3500 7 3001 3011 3015
3000
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2000 =
1500

1000 -
500 -
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Options:
1. ¥ 595477

> ® gor 4T
3 % 7oR4dTd
4 ® 398479

Question Number : 120 Question Id : 5459276988 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The line graph given below shows the number of bananas (in dozens) produced in different states of a country.

Q000 7
B000 4
7000
6000 -
e 5000 A
4000 1
3000 -
2000 -
1000

0 T T T T T 1

51 52 83 S4 55 56

1638

Production of Banana
{in dozens)

State

The production of bananas in 56 is how rmuch percent more than 517
Options:

1. ¥ 312 62 percent

2. % 20812 percent

3. ¥ 271.49 percent

4, % 2485 44 percent

Question Number : 120 Question Id : 5459276988 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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S000
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3000 2056 _»
2000 4 =~ 3028
1000 =

0 +

51 52 53 54 55 56
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56 H el @ Jeute 51 o fra midaa arfear 27
Options:

1. % 312 62 uidaT

2. ® 20812 U

3. ¥ 271 49 nidaT

4 ® 4R 44 qidad
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Group Maximum Duration : 0
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Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
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Minimum Instruction Time: 0
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Question Shuffling Allowed : Yes



Question Number : 121 Question 1d : 5459276989 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

His actions (1) [ call for (2) an explanation (3) . MNo error (4)
Options:
1.%1
2. w2
3% 3
4 ¥ 4

Question Number : 121 Question Id : 5459276989 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the givenl sentence that has an error in it. If there is no error, choose Mo error’.

His actions (1) | call for (2) an explanation (3) [. Mo error (4)
Options:
1.%1
2 w2
3% 3
4 ¥ 4

Question Number : 122 Question Id : 5459276990 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the given sentence that has an error in it If there is no error, choose To error,

She bring up (1) | the orphan (2) | as her owr child (3) [ No error (4)
Options:
1.¥ 1
2. %2
=% 3
4 % 4

Question Number : 122 Question 1d : 5459276990 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

She bring up (1) [ the orphan (2) | as her owrn child (3) . Mo error (4)
Options:
1.¥ 1
2. %2
3. %3
4 % 4

Question Number : 123 Question Id : 5459276991 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
Find the part of the given sentence that has an error in it If there is no error, choose To error,

They discussed (1) | the matter (2) | farther (33 [ Mo error (4)
Options:
1.% 1
2. %2
R
4 % 4

Question Number : 123 Question 1d : 5459276991 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

They discussed (1) | the matter (2) | farther (3) [ No error (4)
Options:
1.% 1
2. %2
2V 3
4 % 4

Question Number : 124 Question Id : 5459276992 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the givenl sentence that has an error in it. If there is no error, choose Mo error’.

& herd of grapes (1) | is kept (2) [ orl the table (3) /. No error (4)
Options:
1.¥v 1
2. % 2
3% 3
4 % 4

Question Number : 124 Question Id : 5459276992 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the given sentence that has an error in it If there is no error, choose To error,

& herd of grapes (1) | is kept (2) [ orl the table (3) [, MNo error i4)
Options:
1.¥ 1
2. %2
=% 3
4 % 4

Question Number : 125 Question Id : 5459276993 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

There is a (1) | great different between (2) | the two staternents (3) /. No error (4)
Options:
1.%1
2. ¥z
3% 3
4 % 4

Question Number : 125 Question Id : 5459276993 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the givenl sentence that has an error in it. If there is no error, choose Mo error’.

Thereisa (1) | great different between (21 | the two statements (3) [ No error (4)
Options:
1.%1
= vz
3% 3
4 ® 4

Question Number : 126 Question Id : 5459276994 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
[rnprove the bracketed part of the sentence,

Cmne of my teachers) has received an award.
Options:

1. % my teacher

2. % the teacher

2. % teacher

4. % No Improvermnent

Question Number : 126 Question Id : 5459276994 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Improve the bracketed part of the sentence.

One of (my teachers) has received an award.
Options:

1. * my teacher

2. % the teacher

2. % teacher

4.9 Mo Improverment

Question Number : 127 Question Id : 5459276995 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Improve the bracketed part of the sentence.

In 1947, when the Declaration of Independence {signed), India becarme a new country.



Options:

1. # sign

Z % that signed
3. ¥ was signed

4. % No Improverment

Question Number : 127 Question Id : 5459276995 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
[rmprove the bracketed part of the sentence,

I 1947, when the Declaration of Independence (signed), India became a new country.
Options:

1. ® sign

= % that signed

2. ¥ was signed

4. % No Improvermnent

Question Number : 128 Question Id : 5459276996 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Improve the bracketed part of the sentence.

(& power failure) are cormmon nowadays.
Options:

1. ¥ Power failures

2. % Power failure

2. % The power failure

4. # Mo Improvermnent

Question Number : 128 Question Id : 5459276996 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Improve the bracketed part of the sentence.

& power failure) are cormmon nowadays.
Options:

1. % Power failures

2. % Power failure

3. ® The power failure

4. % No Improvernent

Question Number : 129 Question Id : 5459276997 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
[mprose the bracketed part of the sentence,

His life is hanging (by) a thread.
Options:
1. #® with



2. % gt
3%

4.9 Mo Improvement

Question Number : 129 Question Id : 5459276997 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
[mprose the bracketed part of the sentence.

His life is hanging (by) a thread.
Options:

1. * with

= % at

3% 1o

4. % No Improvermnent

Question Number : 130 Question Id : 5459276998 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
[rnprove the bracketed part of the sentence,

We will start (on) 5O Clock in the morning.
Options:
1. ¥ at
2 ® by
3. % 1o

4. % No Improvermnent

Question Number : 130 Question Id : 5459276998 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Improve the bracketed part of the sentence.

e will start (o) 5O clock in the morning.
Options:
1.9 at
2 % by
3%

4. % Mo Improvement

Question Number : 131 Question Id : 5459276999 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been Ziverl with a blarnlk to be filled with an appropriate word. Choose the correct alternative.

Yo ___ improve your spellings.
Options:

1. ® had

= ¥ st

2. # ought



4. % hawe

Question Number : 131 Question Id : 5459276999 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blarnk to be filled with an appropriate word. Choose the correct alternative.

Vou o ___ improve your spellings.
Options:

1. * had

= ¥ must

3. % ought

4. % hawe

Question Number : 132 Question Id : 5459277000 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A sentence has been givernl with a blank to be filled with an appropriate word. Choose the correct alternative,

Prices ______ o Corre Aol S00TL
Options:

1. % rnight

2. % must

2. ¥ ought

4. % shall

Question Number : 132 Question Id : 5459277000 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

Frices ______ o COTTe Aol SO0TL
Options:

1. % rnight

2. % must

2. ¥ ought

4. % zhall

Question Number : 133 Question Id : 5459277001 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blarnk to be filled with an appropriate word. Choose the correct alternative.

e to be careful

Options:

1. % need
= ¥ needs
2. % rmight

4 ® can



Question Number : 133 Question Id : 5459277001 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A sentence has been givernl with a blank to be filled with an appropriate word. Choose the correct alternative,

e ______ to be careful

Options:
1. % need

2 % needs
= % rmight

4 *® can

Question Number : 134 Question 1d : 5459277002 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

Heis good ______ for my purpose.
Options:

1. % fully

2. ¥ encugh

2. % partly

4. % any

Question Number : 134 Question Id : 5459277002 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

Heisgood ______ for my purpose.
Options:

1. % fully

Z ¥ enough

3. % partly

4. % any

Question Number : 135 Question Id : 5459277003 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative,

I ______ Iy kriee vesterday.

Options:
1. ¥ hurt

2. % hurts
= % amhurt
4. % has hurt

Question Number : 135 Question 1d : 5459277003 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

I ______ iy knee yesterday.

Options:
1. % hurt

2. ® hurts
2. % am hurt
4. % has hurt

Question Number : 136 Question Id : 5459277004 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

Hesat ______ 8 stool.
Options:
1. % at
2. %in
2 ¥ on

4 % ghowe

Question Number : 136 Question Id : 5459277004 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative,

Hesat ______ a stool,
Options:
1. % at
2. %in
3. v on

4. % abowve

Question Number : 137 Question Id : 5459277005 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

Heruales ______ 2 vast errpire.
Options:

1.9 over

2. % ypon

2% on

4. % at

Question Number : 137 Question Id : 5459277005 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

He rules 8 wast errpire.



Options:
1.9 over
2. % ypon
2 % on

4. % at

Question Number : 138 Question Id : 5459277006 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

His father arrived soon
Options:
1. % before

2. % ago

3. % early
4 ¥ after

Question Number : 138 Question Id : 5459277006 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

His father arrived soon ______.

Options:
1. #* before

2. % ago
2 % early
4 ¥ after

Question Number : 139 Question Id : 5459277007 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The question below consists of a set of labeled sentences. Cut of the four options given, select the most logical
order of the sentenices to form a coherent paragraph.

F: to encourage the developrnent of
i collage industries in the village
E.: an exhibition was organized

5 by the district authorities

Options:

1. % PQORS
2 ¥ RSPQ
2. % ROSP
4 % QRPS

Question Number : 139 Question Id : 5459277007 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The question below consists of a set of labeled sentenices. Out of the four options given, select the most logical
order of the sentenices to form a coherent paragraph.

F: to encourage the developrinent of
3 collage industries in the village
E. an exhibition was organized

5 by the district authorities
Options:

1. % POES

2. W RSP

3. % ROQSF

4. % QRPS

Question Number : 140 Question Id : 5459277008 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25

The question below consists of a set of labeled sentences. Cut of the four options given, select the most logical
order of the sentenices to form a coherent paragraph.

F: the achievernents of
Q) peace are far more

E: lasting and rencowned
5. than those of war
Options:

1. % POES

2. % SEF

= % SROF

4 % PROS

Question Number : 140 Question Id : 5459277008 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The question below consists of a set of labeled sentences. Out of the four options given, select the most logical
order of the sentences to form a coherent paragraph.

F: the achievements of
Q) peace are far more

E: lasting and renowred
2. than those of war

Options:
1. % PORS
2. % QSREFP
3. % SRECQFP
4. % PROQE
eneral Englishz
Group Number : 8
Group Id: 545927348
Group Maximum Duration : 0
Group Minimum Duration : 0

Revisit allowed for view? : No



Revisit allowed for edit? : No
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Group Marks: 20
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Question Number : 141 Question 1d : 5459277009 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The question below consists of a set of labeled sentenices. Out of the four options given, select the most logical
order of the sentenices to form a coherent paragraph.

F: future is always shrouded in a thick veil of mystery.

) wet if we closely understand and analyze the present,

R man cannot know what is going to happen in future.

S we can form some ideas as to what the future is going to be.
Options:

1. % PORS

2. ¥ PROS

3. % RPOQS

4 % QSEP

Question Number : 141 Question Id : 5459277009 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The question below consists of a set of labeled sentences. Cut of the four options given, select the most logical
order of the sentenices to form a coherent paragraph.

F: future is always shrouded in a thick veil of mystery.

O vet if we closely understand and analyze the present,

R man cannot know what is going to happen in future.

S we can form some ideas as to what the future is going to be.

Options:
1. % PORES
2. % PROQS



3. % RPOS
4 % OSREP

Question Number : 142 Question Id : 5459277010 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
—hoose the word that means the same as the given word.

Hurrible
Options:

1. # Bold
2. ¥ Modest
2. % Proud

4 # Sypoot

Question Number : 142 Question Id : 5459277010 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
“hoose the word that means the same as the given word.

Hurmble
Options:

1. % Bold
= ¥ Modest
2. % Proud

4. % Swyoot

Question Number : 143 Question Id : 5459277011 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
_hoose the word that reans the same as the given word.

Lawish
Options:

1. ¥ Grand
2 % Less
3. % Scanty

4 * Scarre

Question Number : 143 Question 1d : 5459277011 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that means the same as the given word.

Lawish
Options:
1. % Grand

2 % Less
3. % Scanty
4 ® Searre



Question Number : 144 Question 1d : 5459277012 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the word that means the same as the givenn word.

Tirrid
Options:

1. % Intrepid
2. % Coward
3. ® Eold

4. % Brave

Question Number : 144 Question Id : 5459277012 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
“hoose the word that means the same as the given word.

Tirmid
Options:

1. # Intrepid
z % Coward
3. % Bold

4 % Erave

Question Number : 145 Question Id : 5459277013 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
_hoose the word that rmeans the same as the given word,

Cormpliant
Options:

1. ® Untamakble
2. % Stubborn
3. ¥ Meek

4. ® wild

Question Number : 145 Question 1d : 5459277013 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the word that means the same as the givenn word.

Zorrpliant
Options:

1. ® Untamakble
2. % Stubborn
I ¥ Meelk

4. % Wwild

Question Number : 146 Question Id : 5459277014 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
_hoose the word that is opposite in meaning to the given word.

Elegant
Options:

1. % Shimmery
2. % Awloward
. % Gorgeous
4. % Uncouth

Question Number : 146 Question 1d : 5459277014 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the word that is opposite in meaning to the given word.

Elegant
Options:

1. * Shimmery
2. % Awloward
2. % Gorgeous
4. % TIncouth

Question Number : 147 Question Id : 5459277015 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt
o,

Options:

1. ¥ Grateful
2. % Gretful
2. % Gratefull
4 % Greteful

Question Number : 147 Question 1d : 5459277015 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt
WOrd.

Options:

1. % Grateful
2. % Gretful
2. % Gratefull

4. % Greteful

Question Number : 148 Question Id : 5459277016 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt
Wl

Options:



1. ® Leissure
Z. # Liesure
3. * Leisur

4. ¥ Leisure

Question Number : 148 Question 1d : 5459277016 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt
WOTrdl.

Options:

1. # Leissure
2. % Liesure
3. # Leisur

4. ¥ Leisure

Question Number : 149 Question Id : 5459277017 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt
wordl.

Options:

1. ® Hiererchy
2. % Heirarchy
2. % Hierarkey
4 % Hierarchy

Question Number : 149 Question 1d : 5459277017 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt
WOrd.

Options:

1. ®¥ Hiererchy
= % Heirarchy
3. # Hierarkey
4. % Hierarchy

Question Number : 150 Question Id : 5459277018 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, cut of the given four alternatives, select the alternative which best expresses the
ITEaning of the Idicm (Phrase.

The ball is in your court

Options:

1. % Confess to the act

2. % The next action is from your side

2. % Fearful



4. % A bad person

Question Number : 150 Question Id : 5459277018 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following questiorn, out of the given four alternatives, select the alternative which best expresses the
meaning of the Idiom | Phrase.

The ball is in your court

Options:

1. #® Confess to the act

= % The next action is from your side
3. ¥ Fearful

4. % A bad person

Question Number : 151 Question Id : 5459277019 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, cut of the given four alternatives, select the alternative which best expresses the
meaning of the Idiom Phrase.

To add fuel to the fire

Options:

1. * In disorder

2. ¥ Toaggravate some matter
3. % Tobe confuse

4 % Pure water

Question Number : 151 Question Id : 5459277019 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the
meaning of the Idiom (Phrase.

To add fuel to the fire

Options:

1. * In disorder

= % Toaggravate S0rme matter
3. % Tobe confuse

4. % Pure water

Question Number : 152 Question Id : 5459277020 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the
meaning of the Idiom /Phrase.

Eag and baggage
Options:
1. % with full luggage

2 % At one's corrumand



3. % Very dear

4 % Intirmate friend

Question Number : 152 Question Id : 5459277020 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, cut of the given four alternatives, select the alternative which best expresses the
meaning of the Idiom Phrase.

Eag and baggage
Options:

1. % With full luggage
2. % At one's cornrmand
3. % Very dear

4 % [ntirmate friend

Question Number : 153 Question Id : 5459277021 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that can substitute the Ziven sentence.

An annual calendar with positions of stars
Options:

1. % Almanac

Z % Diary

3. % Planner

4. % Scheduler

Question Number : 153 Question Id : 5459277021 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that can substitute the given sentence.

An annual calendar with positions of stars
Options:

1. ¥ Almanac

2. % Diary

3. # Planner

4. % Scheduler

Question Number : 154 Question Id : 5459277022 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the word that can substitute the given senternce.

Soldiers who fight on horse back
Options:

1. % Major

2. ¥ Cavalry

3. % Captain



4. % Pilot

Question Number : 154 Question Id : 5459277022 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that can substitute the given sentence.

Soldiers who fight on horse back
Options:

1. % Major

= ¥ Cavalry

2. ® Captain

4. % Pilot

Question Number : 155 Question Id : 5459277023 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that can substitute the given sentence.

A& poermn of lamentation
Options:

1. ¥ Elegy

2. % Sonnet

2. % Hymmn

4 % Epitaph

Question Number : 155 Question Id : 5459277023 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the word that can substitute the given sentence.

A& poemn of lamentation
Options:

1. ¥ Elegy

2. % sonnet

2. % Hymmn

4. % Epitaph

Sub-Section Number: 2
Sub-Section 1d: 545927417
Question Shuffling Allowed : Yes

Question Id : 5459277024 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)
Cuesticon Label | Comprehension



Read the following information carefully and answer the given questions.

The worldwide notice in power issues triggered off by the jagged increases in il cost in 1973 and 149749 has
since Waned. With the drarnatic fall in oil prices in the late 1980, there is a euphoric emotion the world over
that power is no longer a difficulty. Dynamic policy institute in the 1970 to include the developrnent of energy
cormrmnand have been terrminating in many countries. In cormrmorn, the approach is one of trade as natural. India
i5 no omission. There is no proof of approval at the rule level of the fact that for India the power future is
probable to be bleak, and that ensuring sufficient energy accessibility to maintain evern an unassuring rate of
financial developrrient will be the main test. Energy consurmption is not an end in itself. Its importance lies in
the fact that it is an essential overhead for economic developrment.

Energy plays a dual role. [t is an input towards the productive sectors of the economy, namely agricultural and
industry and the supporting infrastructure of transport. It is also a consurner good, energy consurmed in a
household has a direct impact on the quality of life. It is not surprising therefore those studies of energy
COMSUIMption patterns across countries and over periods of time clearly establish a correlation betweern per
Capita energy consumption and per capita income. Even within a country, the affluent sections of society
consume larger amounts of energy per capita than the poorer sections. The extent of access to energy at
affordable prices has distributive implications.

The equity aspect must Fundamental features of India's power circumstances are well recognized and do not
need amplification. Per capita expenditure of power is low, about one-fourth of the world standard and about
one-twenty-fifth that of the USA and imitate the gathering scarcity still ubiquitous in the country. Long
established fuels like fuelwood, animal dung, and crop remains account, even row for as rmuch as 35 percent
to 40 percent of the total energy consumption in the country.

Sub questions

Question Number : 156 Question Id : 5459277025 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following is opposite in meaning to affluent?

Options:

1. ¥ Failing
2. % Moneved
2. % Opulent
4. % Loaded

Question Number : 157 Question Id ;: 5459277026 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What does ‘energy consumption has a direct impact on the quality of life’ means?

Options:
1. % Cuality of life can be improved by more energy Consurmption
2. % Poor people have to consurmne less energy due to high cost involved

2. ¥ Both quality of life can be improved by more energy consurmnption and poor people have to consurme 1ess
eniergy due to high cost involved

4. % Do option is correct

Question Number : 158 Question 1d : 5459277027 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The energy policy makers, should take due attention of the fact that:

Options:

1. * The energy requirement of the rich in India is does not differ from that of the poor
2. % India’s energy situation is sound and there will be no shortage in the next future
2. % India’s energy requirermnent is far less than that of the Americans

4. % Access to energy and availability, therefore are in proportion to financial status



Question Number : 159 Question 1d : 5459277028 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The author is of the view that the policy makers in India

Options:

1. ® Are showing challenge of energy shortage probable challenge of energy shortage
2. % Are duly aware of the probable energy crises in near future

3 ®* Bothaandb

4. % DN option is correct

Question Number : 160 Question Id : 5459277029 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: 0.25

In which pair of aspects does energy play a dual role?

Options:

1. * Industrial and household consumption

2. % Political, economic and social developrient

= Agricultural, industrial production, transport and consumers goods

4 % Agricultural and industrial production

Question Id : 5459277024 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)
Juestion Label - Comprehension

Read the following information carefully and answer the given questions.

The worldwide notice in power issues triggered off by the jagged increases in il cost in 1973 and 149749 has
since Waned. With the drarnatic fall in oil prices in the late 1980, there is a euphoric emotion the world over
that power is no longer a difficulty. Dynamic policy institute in the 1970 to include the developrnent of energy
cormrmnand have been terrminating in many countries. In cormrmorn, the approach is one of trade as natural. India
i5 no omission. There is no proof of approval at the rule level of the fact that for India the power future is
probable to be bleak, and that ensuring sufficient energy accessibility to maintain evern an unassuring rate of
financial developrrient will be the main test. Energy consurmption is not an end in itself. Its importance lies in
the fact that it is an essential overhead for economic developrment.

Energy plays a dual role. [t is an input towards the productive sectors of the economy, namely agricultural and
industry and the supporting infrastructure of transport. It is also a consurner good, energy consurmed in a
household has a direct impact on the quality of life. It is not surprising therefore those studies of energy
COMSUIMption patterns across countries and over periods of time clearly establish a correlation betweern per
Capita energy consumption and per capita income. Even within a country, the affluent sections of society
consume larger amounts of energy per capita than the poorer sections. The extent of access to energy at
affordable prices has distributive implications.

The equity aspect must Fundamental features of India's power circumstances are well recognized and do not
need amplification. Per capita expenditure of power is low, about one-fourth of the world standard and about
one-twenty-fifth that of the USA and imitate the gathering scarcity still ubiquitous in the country. Lon
established fuels like fuelwood, animal dung, and crop remains account, even row for as much as 35 T to
40 gided of the total energy consumption in the country.

Sub questions

Question Number : 156 Question Id : 5459277025 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Wwhich of the following is opposite in meaning to affluent?
Options:

1. ¢ Failing



2. % Moneved
3. % Opulent
4 % Loaded

Question Number : 157 Question Id : 5459277026 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
what does ‘energy consumption has a direct impact on the quality of life’ means?

Options:
1. ® Cuality of life can be improved by more energy Consumption
2. % Poor people have to consume less energy due to high cost involved

=, ¥ Both quality of life can be improved by more energy consumption and poor people have to consurme less
eniergy due to high cost involved

4. % Mo option is correct

Question Number : 158 Question 1d : 5459277027 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The energy policy makers, should take due attention of the fact that:

Options:

1. # The energy requirement of the rich in India is does not differ from that of the poor
2. ® India’s energy situation is scund and there will be no shortage in the next future
Z. % India’s energy requirement is far less than that of the Americans

4. ¥ Access to energy and availability, therefore are in proportion to financial status

Question Number : 159 Question Id : 5459277028 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The author is of the view that the policy makers in [ndia

Options:

1. # Are showing challenge of energy shortage probable challenge of energy shortage
2. ¥ Are duly aware of the probable energy crises in near future

2 % Bothaandb

4. % Mo option is correct

Question Number : 160 Question Id : 5459277029 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In which pair of aspects does energy play a dual role?

Options:

1. # Industrial and household consumption

2. % Political, economic and social developrnent

=, ¥ Agricultural, industrial production, transport and consumers goods

4. % agricultural and industrial production

eneral Hindil
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Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
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Minimum Instruction Time: 0

Zeneral Hindil

Section Id : 545027349

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 545027418
Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 5459277030 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T oy e # ewr ST i

ELTil

Options:

1. ¥ =1

2 % T

z ®

4 % 3

Question Number : 161 Question Id : 5459277030 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o T areg © vea AT e

ELTH
Options:
1. v =t
o % T
3 %t
4 % 3



Question Number : 162 Question 1d : 5459277031 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Te Iy sreg, T Wl g
SecguT

Options:

1. % a7 4 ooy

2. % 3+ ooy

3 % arg+ s

4. ® 31 + =yoy

Question Number : 162 Question Id : 5459277031 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T Iy sreg; w0 AT TR
SR

Options:

1. % a7 4+ umy

2 ® o + Ty

3 % arg+ mo

4. % 3 + gy

Question Number : 163 Question Id : 5459277032 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o 1T aTeg T SeTATEAT AT S0

Options:

1. % Agrdr
2 ¥ mgan
3. ® OpTee
4. ® mEHed

Question Number : 163 Question Id : 5459277032 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o T reg T SATEET AT S

Options:

1. % #grar
= ¥ mEan
3. OpTE
4. % g

Question Number : 164 Question Id : 5459277033 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
Terr T AT ST AT T U e T ST i

AT - T AT e W AT Tl =ad
Options:

1. % 3w

2. ¥ amT

2. % faam

4 % gAY

Question Number : 164 Question 1d : 5459277033 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o g A f SO ST T IO S T S o i e

Options:

1. % A
2. ¥ 3T

3. % femm

4. % gAY

Question Number : 165 Question Id : 5459277034 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ter Ty e # iR T R v o o ferr € ama e

& el JITF AT
Options:

1. % Oidam=s

2. % giAaEE
3. ¥ TR

4. ® TS

Question Number : 165 Question Id : 5459277034 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
g Ty arer H TR T TR W o TeRT TerT § AT R

T el JHRTE FIar
Options:

1. % vifdams

2. ® giAmaEs
3. ¥ DHIEE

4. ® WIS

Question Number : 166 Question Id : 5459277035 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



T T seg g T anef T i

Options:

1. ¥ AT - 97
2. % amEr- o4t
3. % Sl - HIT
4. % T - oA

Question Number : 166 Question Id : 5459277035 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tom M7 steg A T anf AT wem

Options:

1. % AT - 9+
= R Sy - T
3. ® S - AT
4 % T - B

Question Number : 167 Question Id : 5459277036 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o M7 AT & W0 IRIT =g @ = HiFem

e O T A &0
Options:

1. % gw

o ¥ atfde

z % g

4 % W

Question Number : 167 Question Id : 5459277036 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T T ety & o IR g @ e Hifem

o U i A g0
Options:

1. % wgw

2 ¢ afd

3 % o

4 % e

Question Number : 168 Question Id : 5459277037 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TrrafeTE # & Tt ST &7 Were &7 ST 87

Options:



1. % |qame—
= ® R
3. ¥ Fam
4. % TUW

Question Number : 168 Question Id : 5459277037 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR # & Tt {7 &7 W T ST 57

Options:

1. ® e
2. % TR
z o TamiE

4. % g

Question Number : 169 Question Id : 5459277038 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T2 T Sregt @7 waiaar S dim

e, AT T AT
Options:

1. Tarfger

o % witeE

3. % it

4. ® diefa

Question Number : 169 Question Id : 5459277038 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T T et T wieT T A
TEd, ST T T

Options:

1. ¥ Tatem
o % difee
z. % i
4 % e

Question Number : 170 Question Id : 5459277039 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T M7 steg, w7 AR deg AT HiFAm

[2u)
Options:
1. % A
2 % gy
3.V e



4 % 97

Question Number : 170 Question Id : 5459277039 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T M7 sz %7 A e A FE

(2L}
Options:

1. % 9
2. % g
3.V e
4. % I

Question Number : 171 Question Id : 5459277040 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T T Seg ! H # G ST W Ao i
Options:

1. % oefAfer

2. % gufafdr

3. ® ot

4 giafer

Question Number : 171 Question Id : 5459277040 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ty areat # F G o AT w9 i
Options:

1. % oeyirer

2 % ouffer

3. ® e

4wt

Question Number : 172 Question Id : 5459277041 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Terr T AT | TR wT F gid dra

Options:
1. 9=
o % g

3 ® g
4. ® arfater

Question Number : 172 Question Id : 5459277041 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Terr iy e # T T & o A

Options:
1. ¢
2 % g

3 % g H
4 % rfEtew

Question Number : 173 Question Id : 5459277042 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T T Seg T U A e

LI=T)

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.

Options:

1. T

2. & AT

3. Toeem

4. Tt

Question Number : 173 Question Id : 5459277042 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

a0 T STeg 7 wriaaRlT S iR

Tigd

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.

Options:

1. &

2. 8T AT

2. Teiergor

4. e

Question Number : 174 Question Id : 5459277043 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TrafeiaT qeal # & ad- & gt & @9 a1 eg 35 37
Options:

1. % aman

= o ZiEe
3. ¥ FranR!
4. % gIrl

Question Number : 174 Question Id : 5459277043 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T aeat & & o 1 e F # 9 aeg g 8



Options:

1. ¥ 3w

2. ¥ EidgE
3. % FranR
4, ® gEr

Question Number : 175 Question Id : 5459277044 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T T e & o0 IR e @ g dfem

ST TEarted =it
Options:

1. % =it

2. % TR

3. % Aigem
4 ¥ gt

Question Number : 175 Question Id : 5459277044 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TETT T STernar o 1ol I Jeg &7 =ra- i

st et =
Options:

1. % =

2. % STET

3. ® migem
4« gl

Question Number : 176 Question Id : 5459277045 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Tamr T e 3 TR WET ST T e die
T T G2 T 51T 3l

Options:

1. & 1T T g AT BT gl
2. ® T BT g AR W R 8l
S % T T g TR R El
4. % T AT AR F TR 1

Question Number : 176 Question Id : 5459277045 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T I e o T R ST o e e
HEEICCEIETEACIE

Options:
1. & T 1 3 TdE F T )



2. % T T G AR HEET R
3. % T T g | aTRd i R gl
4. % T AT AR F TR 1

Question Number : 177 Question Id : 5459277046 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TETT I 1T 6T 1 AT 1)

AT e 75T &l
Options:

1. i oA e
2. % HET a0 T
3. % gl adAd e
4. ¥ FATT TF A TTA

Question Number : 177 Question Id : 5459277046 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TaTT T ST T WA AT A

TaTTT & 757 21
Options:

1. et oA F1a
2. % HET d A e
3. ® gl adAe e

4 ® AT A T

Question Number : 178 Question 1d : 5459277047 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Torafata & & F1 AT eg I ST - qive BT T8 22
Options:

1. % Tt - T

2. % A=l - A=ET

2 ® ginzaer - gied

4 & g - arFeEr

Question Number : 178 Question Id : 5459277047 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ForaferTea & & 1 a7 Jeg T ST - gfFe a7
Options:

1. ® T - T

2. ¥ Ed - A=

=z ® guEdEr - gived

4  TE - R



Question Number : 179 Question Id : 5459277048 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT el # & @19 | apanH &1 0 951 57
Options:

1% ghe

2 % oAl

3. v giean

4 % f2fat

Question Number : 179 Question Id : 5459277048 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

AT ea! # & HI H1 dgoa &1 &0 A5 57
Options:

1. % gigat

o % el

3.V gl

4. ® ERat

Question Number : 180 Question Id : 5459277049 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ToTT T e # YRR AT TR WO @ T TR B S d

7T I &eF 33T 4l
Options:

1. & arferm
o ® g

Z. % waer

4 % For

Question Number : 180 Question 1d : 5459277049 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TomT T =Terer # YEieRd AT TR WeRTE e ot TerdTE B ST e

T 0T T e &
Options:

1. st
2. % Haree
3. % g

4 % FIOT
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Question Number : 181 Question Id : 5459277050 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o T ATy # i & w0 T U difem

THAT: T G 31T Terd [ 5l
Options:

1. & Taramis

= % mHigmiw

3. ® aarEE

4. ® gt

Question Number : 181 Question Id : 5459277050 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Torr Ty =T i & F9 S Oge S
T Tl 15 T TFd [ ]

Options:

1. & gymariE

o ® Hegmfw

z ® aAniE

4. ® Tpcomefa



Question Number : 182 Question Id : 5459277051 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T T I & ®9 & g S

T AT H 39S 1% 21
Options:

1. % wHaEg
2 ¥ Fgara
3. ® e
4. # ToIOaRd

Question Number : 182 Question 1d : 5459277051 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T T A % w0 & ugE F A

T Ty H 32 1 5
Options:
1. ® wHaweg

2 ¢ Fdarg
3 ¥ qEERT
4. % ZeOdRd

Question Number : 183 Question Id : 5459277052 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o T e # Uyt F w0 H g F e

ERCICIRICIR)
Options:

1. % oof oy

2 % amuf oy

3 % ey

4 gacaaree® 0y

Question Number : 183 Question Id : 5459277052 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Sub-Section Number: 2
Sub-Section 1d: 545927420
Question Shuffling Allowed : Yes

Question Id : 5459277065 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
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